
- 1 - 

Rear Brushguard 

KIT P/N 2877686 

 

APPLICATION: 2006-2009 Sportsman X2 Models 

 

This kit includes: 

Qty Part Description       

1 Rear Brushguard 
4 5/16-18 x 1.5, grade 5, silver zinc plated, hex bolts 
8 5/16 flat washers, silver zinc plated 
4 5/16-18 nylock nuts, grade 5, silver zinc plated 
2 5/16-18 x 2.50, grade 5, torx (T27) head machine screw, RIE-4001 finish 
2 2" OD round tube plugs 

   

 

IMPORTANT: Your Polaris accessory is designed exclusively for your vehicle. Please 

read the instructions thoroughly before beginning. Installation of any item is easier if the 

vehicle is clean and free of debris. 

 

TOOLS REQUIRED:  

T27 torx or socket 

½” wrench and socket 

 

APPROXIMATE INSTALLATION TIME: 15 minutes 

 

INSTALLATION INSTRUCTIONS: 
1. Remove the four nylock nuts from the four mounting bolts on the underside of the 

dump box. Retain for later use. Box must be in down position! 

 



- 2 - 

2. Remove and discard the front two bolts. 

 
3. Install the brushguard mounts to the box frame as shown. Secure the front using the 

5/16-18 x 2.50” machine screws included with this kit. Use the nylock nuts removed 

in step 1. Leave the nylock nuts finger tight only at this time. 

 
4. Place the brushguard over the brushguard mounts installed in the previous step. 

5. Fasten the brushguard to the mounts using the 5/16-18 x 1.50” hex head bolts, flat 

washers and nylock nuts included in this kit. 

 
 

 
6. Torque all fasteners to 20-ft-lbs. 


